Hedging Problem Worksheet ~ KEY








         




         


    Cash		Futures


	       


              Basis = -$0.80


$2.15			$2.95





              Basis = -$0.40





$2.25			$2.65   


+$0.10			+$0.30








	     Net = $0.40














Guarantee = $2.95 - $0.50 = $2.45





Actual Price = $2.25 + $0.30 = $2.55





    Cash		Futures


	       


	        Basis = $0.50


$5.40			     $5.90





                    Basis = $0.52





$5.30			     $5.82 


-$0.10			     +0.08








                       Net = -$0.02











  


Guarantee = $5.90 - $0.50 = $5.40





Actual Price = $5.30 + $0.08 = $5.38


We will deliver to Chicago to


guarantee our $5.40





    Cash		Futures


	       


	     Basis = $0.55


    $2.70		    $3.25





                 Basis = $0.40





    $1.75		    $2.15 


   -$0.95		  +$1.10








                    Net = +$0.15











   


Guarantee = $3.25 - $0.50 = $2.75





Actual Price = $1.75 + $1.10 = $2.85


Are We Happy?  Yes!





    Cash		Futures


	       


               Basis = $0.60


$5.35			$5.95





	   Basis = $0.35





$8.30			$8.65  


+$2.95			-$2.70








                  Net = +$0.25














Guarantee = $5.95 - $0.50 = $5.45





Actual Price = $8.30 - $2.70 = $5.60





Are We Happy?  No!
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